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QUESTION 1

Which of the following is NOT a critical feature or function of a scorecard? 

A. Targets 

B. Projections 

C. Tolerances 

D. Histories 

Correct Answer: B 

 

QUESTION 2

Which of the following issues is Iterative Development specifically designed to address? 

A. The very act of developing a system or solution will change the business requirements. 

B. Users understand their business processes but they don\\'t usually understand applicationdevelopment. 

C. No developed solution will satisfy all users equally. 

D. Users often feel that IT does not understand the business. 

Correct Answer: A 

 

QUESTION 3

Which of the following is a valid strategy for addressing failover for the content store? 

A. Install active and passive instances of the content store. 

B. Install active and passive instances of the Content Manager service. 

C. Take advantage of failover protection in the Applications tier by installing the content store ona server that hosts
multiple instances of the report service. 

D. Take advantage of database backup and failover strategies and policies already in place in theenvironment. 

Correct Answer: D 

 

QUESTION 4

The partial diagram below is an example of what type of database schema design? 

A. star schema 
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B. snowflake schema 

C. normalized schema 

D. de-normalized schema 

Correct Answer: B 

 

QUESTION 5

The V-Model testing process specifies that developers should both verify and validate each test. 

Which of the following describes how developers would validate their tests in the design step ofthe V-model? 

A. Check the design by conducting an assembly test. 

B. Check the design by conducting a component test. 

C. Check the design against the business requirements. 

D. Check the design against the developed components. 

Correct Answer: C 

 

 

QUESTION 6

Which of the following is a critical component in delivering Corporate Performance Managementthroughout an
enterprise? 

A. Drill down from summary to detailed information within individual subject areas. 

B. Drill across from one subject area to another through conformed dimensions. 

C. Star schema data marts designed to facilitate analysis and reporting. 

D. Event management designed to monitor the status of Key Performance Indicators. 

Correct Answer: B 

 

QUESTION 7

You are tasked with administering theCognos BIsystem to perform batch reporting in a waythat maximizes the use of
available system resources. Given the following information, how manyjobs should be created to perform this task? 

480 reports must run 

6 report processes are available 

Each process is configured to use 4 low affinity connections 
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A. 20 

B. 24 

C. 48 

D. 12 

Correct Answer: A 

 

QUESTION 8

Which of the following is correct regarding the processing of a PageDown high affinity request? 

A. The request is routed to the same process that served up the originating low affinity request ifthe process is available
and if there is an available high affinity connection. 

B. The request is given priority and is always processed by the same process that served up theoriginating low affinity
request. 

C. The request is load-balanced and is sent to any available dispatcher in the system. 

D. The request is automatically queued and is processed by the first available low affinityconnection in the system. 

Correct Answer: A 

 

QUESTION 9

Why should an application\\'s performance be monitored on an ongoing basis after it goes intoproduction? 

A. Initial performance tests are usually too optimistic. 

B. There is little value in performance tests before a system goes into production. 

C. Usage patterns on applications tend to change over time. 

D. New releases of system and application software usually degrade performance. 

Correct Answer: C 

 

QUESTION 10

WhichCognos BIarchitectural component is written in C++? 

A. Batch report service 

B. Job service 

C. Monitoring service 

D. Presentation service 
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Correct Answer: A 

 

QUESTION 11

When deploying an application from a development environment to a production environment, which of the following is
correct when each environment uses a separate LDAP instance? 

A. There are no issues because the Access Control List (ACL) references the same usernames. 

B. Use theCognos BIsecurity objects. 

C. Do not useCognos BIsecurity unless you are deploying your application using Series 7Cognos Access Manager for
authentication. 

D. There are no issues because LDAP objects are always replicated between the environments. 

Correct Answer: B 

 

 

QUESTION 12

Which of the following allows greatest flexibility in formatting but generally has the lowestinteractivity with the users? 

A. Analysis 

B. Query 

C. Dashboards 

D. Managed Reports 

Correct Answer: D 

 

QUESTION 13

Which of the following requires additional configuration for installingCognos BIin adevelopment and production
environment? 

A. The application in the development environment and in the production environment will use the Tomcat servlet
container as the application server. 

B. The development environment will include workstations hosting Framework Manager andCognos 8 OLAP Modeling,
while the production environment will not. 

C. The environment contains customized port and firewall settings for the default http andapplication server port. 

D. The development and production environment will use data sources that are in Unicode. 

Correct Answer: C 
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QUESTION 14

A company has several operational data stores. They wish to compare data from the various datastores against one
another. The data in the various stores must be manipulated to match.Eventual report performance is more important
than development time. 

Which of the followingCognos 8 components would BEST address their requirements? 

A. Report Studio and Query Studio 

B. Analysis Studio and Report Studio 

C. Data Manager and Analysis Studio 

D. Planning, Data Manager, and Report Studio 

Correct Answer: C 

 

 

QUESTION 15

Which of the following is correct regarding report execution requests? 

A. A low affinity request is directed to the same process that served up the originating low affinityrequest if the process
is available and there is an available high affinity connection. 

B. A low affinity request can be processed using a high affinity connection when a low affinityconnection is not
available. 

C. An absolute affinity request does not require a connection because it has priority. 

D. A high affinity request can be processed using a low affinity connection if there are no highaffinity connections
available. 

Correct Answer: D 
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